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BOTANY 

 Course ID : 11314  Course Code :  SHBOT-103GE-1(T) 

Course Title : Plant Biodiversity 

  Time:  1 Hour 15 Minutes  Full Marks:  25 

The figures in the margin indicate full marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ þ›)”Åôyl !löì˜Å¢†þÐ 
þ›î û#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

 1. Answer any five questions from the following: 1×5=5 

  !lÁ¬!¡!‡•þ öë ö†þyöìly þ›„y‹þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) What is temperate phase? 

    öØþÁ›yöìîûØþ æþy?ä †þyöì†þ îöì¡Ú 

   (b) What is Coenobium? In which alga it is seen? 

    !¤öìly!îëûyô !†þÚ ö†þyl ÷¢îyöì¡ ~!Øþ ö˜‡y ëyëûÚ 

   (c) Give the scientific name of one edible alga. 

    ôyl%öì£ìîû ‡y˜Ä !¥¤yöìî îÄî¥*•þ ~†þ!Øþ ÷¢îyöì¡îû !îKþyl¤Á¿•þ lyô ö¡öì‡yÐ 

   (d) Give one example of Coprophilous fungi?   

    ~†þ!Øþ Coprophilous Séeyöì†þîû ’þz˜y¥îû” ˜yGÐ 

   (e) Name one species of Rhynia. 

    Rhynia Ÿé~îû ~†þ!Øþ ²Ì?y!•þîû lyô ö¡öì‡yÐ 

   (f) What is rhizophore? Where it is found? 

    îûy¥zöì?yöìæþyîû †þ#Ú ¥z¥y ö†þyíyëû ö˜‡öì•þ þ›yGëûy ëyëûÚ 

   (g) What is Peristome teeth? 

    öþ›!îûöìÞØþyô ˜„y•þ †þ#Ú 

   (h) Write two fern characters of Cycas? 

    Cycas éŸé~îû ˜%!Øþ æþy”Å ÷î!¢ÜTÄ ’þzöìÍÔ‡ †þöìîûyÐ 

 2. Answer any two questions from the following: 5×2=10 

  !lÁ¬!¡!‡•þ öë ö†þyöìly ˜%!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

    (a) Draw and describe the male reproductive structure of chara. 

    !‹þe¤¥ chara éŸéîû þ›%‚?llyöìDîû î”Åly ˜yGÐ 
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   (b) Write down the economic importance of fungi. 

    Séeyöì†þîû xíÅ÷ìl!•þ†þ =îû&c xyöì¡y‹þly †þöìîûyÐ 

   (c) Describe the stem anatomy of Equisetum sp. 

    Equisetum éŸé~îû †þyöì[þîû xhsé/ýˆ‘þl î”Åly †þöìîûyÐ 
   (d) Draw and describe the anatomical structure of Cycas Leaflet. 2+3=5 

    !‹þe¤¥ Cycas éŸéîû þ›eöì†þîû xhsý/ˆ‘þöìlîû î”Åly ˜yGÐ 

 3. Answer any one question from the following: 10×1=10 

  !lÁ¬!¡!‡•þ öë ö†þyöìly ~†þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

    (a) What is lytic cycle? Describe with suitable diagram the lytic cycle of T-2 phage. 2+8=10 

    ¡y¥z!Øþ†þ ‹þe« †þ#Ú T-2 æþyöì?îû ¡y¥z!Øþ†þ ‹þe« Sé!î¤¥ î”Åly ˜yGÐ 

   (b) Describe the different stages in the life cycle of Puccinia graminis trifici with suitable 
sketches. 

    ’þzþ›ë%_« !‹þe¤¥ PucciniaéŸéîû ?#îl‹þöìe«îû !î!èþ§¬ ˜¢yîû î”Åly †þöìîûyÐ 

__________ 


